——
N = 0 A Ab 3 Al
20148 &= 20 A LEHSH & Al
=YD RN
BN A G ATH A
D SAITHA DBt A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
24 4,265,561 6,772,502 A 2,506,941
2 2,780,000
Al 1,485,561
ES INDAR 3,971,681 6,497,775 N2,526,094
2 2,780,000
Al 1,191,681
SAA J|etx M 3,390,400 5,959,100 N2,568,700
2 2,780,000
Al 610,400
XN T AMA HIHOpY 11,000 10,000 1,000
201 et d| 8,000 7,000 1,000
01 A2t 2| H| 8,000 7,000 1,000
O T Al X 24 35 M= 4,000
O=2IIALY AL HICHA & A 4,000
et A= 3,000 3,000 0
SHALAIHI B A2 3,000 3,000 0
OEAIMAM HIHY 235 ZFAX AU A
200,000& *x3H 53] 3,000
SATHAM 245 K& 70,000 45,000 25,000
B2 A Y| 50,000 25,000 25,000
AP 22| d| 50,000 25,000 25,000
OEAMMAIYE E2 X & 50,000
A2 FAH| 20,000 20,000 0
Al EH =& A 20,000 20,000 0
O T Al 1 2 17,000
O=2JI22 2 =y Es N 3,000
== MEXNGL 2HA 8,800 8,500 300
B2 A Y| 3,800 3,500 300
AP 22| d| 3,800 3,500 300
OEAMAM FX3F O & =
80,000 x6H x50 A A 2,400
O A MM =X 29 Xt 2 Ol A
280,000 *53] 1,400
ot A= 5,000 5,000 0
SHAIAH| &2 5,000 5,000 0
O S Al T 24 13 & A
1,000, 000& *53] 5,000
SCAMAE MEZHZEX 9,000 8,000 1,000
et AH| 3,000 3,000 0
AP 22| d| 3,000 3,000 0
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SH EATH A
B HOH TATHA

Chel: SAITHA Dlgtx A (=& J)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZAMMY MEHZE 28 228 HM&E & &5
SN 22t 3,000
301 YU B A 6,000 5,000 1,000
09 AL HIZ &S 5,000 4,000 1,000
ORIAE L TAEY A=Y 1,000
OHANETHI AHI24 3,000
OMEHZ= HE AH 24 1,000
11IIEtEA S 1,000 1,000 0
OZAMY MEZHZE HH=E 22 1,000
SATHA 0tOICIOf B2 10,000 10,000 0
301 gt d= 10,000 10,000 0
1MIIEBESS 10,000 10,000 0
OZAITHAY OIOICIH 22 =% A&z 10,000
SATHY X2HEH 2SS XA 9,600 15,600 A 6,000
201 L2l 9,600 15,600 A 6,000
01 At 2t 2l 9,600 15,600 26,000
OTANTHMIALAE X2 XS
800,000 »12& 9,600
oS MEFA 62,000 62,000 0
307 gl2tol & 62,000 62,000 0
02 RIZHENEXS 62,000 62,000 0
OlISTHMstl 29 28,000
ontsgast & NASsH LAY 34,000
HALOFS O3 D] ALY 2,390,000 4,980,000 A 2,590,000
& 2,380,000
Al 10,000
307 21201 A 20,000 30,000 210,000
& 10,000
Al 10,000
02 BIZHEAMNEXS 20,000 30,000 A 10,000
O AT F=AHXF XNAAS2ds T2 2
SR 20,000
= 10,000
Al 10,000
401 AIEBI L 20HEI 2,370,000 4,942,000 A2,572,000
& 2,370,000
01 A& Bl 2,364,000 4,800,000 A 2,436,000
OFAOIS ORI At 2,364,000
& 2,364,000
03 A& S THHI 6,000 12,000 A 6,000
O&EAOISItRI| AL 6,000
& 6,000
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DS ALTH A8 Tt
YA DAY
DAY Dt

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
A s BsH AL 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
02 QIZtFAE XS 20,000 20,000 0
ORAETH u=E ZSHAMZE X 20,000
YN DALE BSZ FHIAY 600,000 600,000 0
2 300,000
Al 300,000
307 21201 A 10,000 30,000 A 20,000
2 5,000
Al 5,000
02 B AEXS 10,000 30,000 220,000
O A MIX7 XNEASds T20H 2
=BAE] 10,000
2 5,000
Al 5,000
401 Al B2 28I 590,000 570,000 20,000
2 295,000
Al 295,000
01 A& HI 586,000 566,000 20,000
OSYNY NALE 222 FHIAY 586,000
2 293,000
Al 293,000
03 AIE 2 0HHI 4,000 4,000 0
OSLANE DUHAE 222 FHAY 4,000
= 2,000
Al 2,000
OISUSIMNEFA(SSSUHSHAEICAY) 200,000 200,000 0
& 100,000
Al 100,000
201 L2l 14,000 17,000 A 3,000
& 7,000
Al 7,000
01 At 22l 14,000 17,000 A 3,000
O==s0t=MMICAS 14,000
= 7,000
Al 7,000
301 L2 A3 12,000 0 12,000
& 6,000
Al 6,000
09 SALAHIE &S 12,000 0 12,000
O=s=ss0tsMMICAE 2OEH 12,000
& 6,000
Al 6,000
307 glz2+ol & 174,000 183,000 A 9,000
& 87,000
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2N

X ZH
S =

S AL TH 24 Dt

YA DAY

SRl TAHY JgtEd

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Al 87,000
02 Q2P AMEXZ 174,000 183,000 A9,000
O=ssslESMMIACAMY 2O UIOIH ¢4 12,000
= 6,000
Al 6,000
O=SSSUHSMMIACIAY OISeld ¢4 22,000
FL) 11,000
Al 11,000
OsSSsSlHSMMIACIAIY Ssiits =4 140,000
= 70,000
Al 70,000
ofulotA X3 581,281 538,675 42,606
OHIIGHR A ALY 581,281 538,675 42,606
101 @1 21| 283,861 272,075 11,786
04 JI2ZtHI22NHSE 283,861 272,075 11,786
OIS A ALY 283,861
[ pelals]l 249,611
&I, ASs 4| 97,9513 *300 x6H 176,312
-F=NHEX 81,4433 300 »3H 73,299
[ ZANESR= 249,610,500 *13% 32,450
@ Ll =H| 200,000& x9H 1,800
201 et A | 111,200 107,000 4,200
01 AFR2t2l Yl 91,200 87,000 4,200
OoHIldt A At 91,200
QollIlotRAHMEH 2HH| 39,000
O=EE=SHZ 3,240
@ISt AHE Ro1AHH| 2,400
[ I=2=dsll 3,360
[ PNa= RN = 43,200
02 3524t 20,000 20,000 0
03322 % HA 11,000
O Xt & ghHy| 9,000
202 (4] 6,000 6,000 0
01 2L Y| 6,000 6,000 0
OIdt A At 6,000
@ 2 LY 4,800
o2 1,200
206 M= Hl 126,620 100,000 26,620
01 X2 bl 126,620 100,000 26,620
OolIldstA At 126,620
O NHI AT P 95,000
OFUEWAMY Mz 30,000
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2N

X ZH
S =

el

S AITH &4 2t
YA DAY
ofIisteA K&

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O FAXH 5 =488 WM 1,620
301 et A3z 3,600 3,600 0
09 &AL HIZ &S 3,600 3,600 0
O=F0lsrs 2AZE 3,600
401 Al HIZ 201 Y| 50,000 50,000 0
01 A& HI 50,000 50,000 0
OntsMHe slZLAY 50,000
HHE 2L ZHI (S AITHA D) 293,880 274,727 19,153
ol 2 AHI (S Al A4 2t) 236,475 220,529 15,946
Ol 2 HI (S Al TH A4 1) 236,475 220,529 15,946
101 @144 dl 236,475 220,529 15,946
01 2= 236,475 220,529 15,946
OAZeZR=Y 236,475
05 11,3643 x3H «50A| 2t 12 20,456
6= 9,692% «11H x50A| 2t 12& 63,968
/= 8,754 25 x50Al 2tx12& 131,310
@3:= 7,8603 x4 x50Al 2tx 128 18,864
[ DS Fals] 234,596,400& 0. 8% 1,877
Jl2Z I (S AITH A4 1) 57,405 54,198 3,207
Jl2ZBI (S Al 24 1H) 57,405 54,198 3,207
201 et 22,905 21,378 1,527
01 At 22l 22,905 21,378 1,527
O g+t 12,825
O= &l 10,080
202 odl 28,200 26,520 1,680
01 = LH o4 1l 28,200 26,520 1,680
OJleg =80l 28,200
203 YR =] 6,300 6,300 0
01 JI1228 2= 3,300 3,300 0
O AITH &4 AL EHE 3,300
04 FN2ELRZ=TH| 3,000 3,000 0
ORAN2EYE=AHI 250,000 »12& 3,000
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